K.C.P.E. TRIAL - 2013
SCIENCE  STD  8

Time: lhour40mins
READ THESE INSTRUCTIONS CAREFULLY
1. You have been given this question booklet and a separate answer sheet. The question booklet contains 1-50 questions
2. Do any necessary rough work in this booklet
3. When you have chosen your answer, mark in the ANSWER SHEET, not in this question booklet
HOW TO USE THE ANSWER SHEET
4. Use only an ordinary pencil
5. Make sure that you have written on the answer sheet:
YOUR INDEX NUMBER YOUR NAME
NAME OF YOUR SCHOOL
6. By drawing a dark line inside the correct numbered boxes mark your foil Index Number (i.e. School Code Number and the three-figure Candidates Number) in the grid near the top of the answer sheet.
7. Do not make marks outside the boxes
8. Keep the sheet as clean as possible and do not fold it.
9. For each of the questions 1-50 four answers are given. The answers are lettered A, B, C, and D. In each case only ONE of the four answers is correct. Choose the correct answer.
10. On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in which the letter you have chosen is written.
Example
In the Question Booklet
22. Which of the following has all conditions necessary for germination of seeds?
A. soil, air, water
B. air, warmth, water
C. warmth, light, soil
D. water, warmth, light
The correct answer is B ( air, warmth, water)
On the answer sheet:
19. [A] [B] [C] [D]        20. [A] [B] [C] [D]       21. [A] [B] [C] [D]     22. [A] [B]  [C] [D]
11. You dark line MUST be within the box
12. For each question ONLY ONE box is to be marked in each set of four boxes
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1. The second least refracted colour of the rainbow would be 
….
A. Violet
B. Orange
C. Blue
D. Red
2. Which type of food is correctly matched with the part of the digestive system at which its digested?
A. Maize - Duodenum
B. Meat - Oesophagus G. Beans - Stomach
D. Glucose -Heum
3. Which of the following characteristics is commonly shared by ducks and chameleons?
A. method of-feeding
B. gestation period
C. type of body cover
D. scales on the feet x
4. Which ofthe following plants has a different method of reproduction?
A. spirogyra
B. mucus
C. moss
D. morning gloiy
5. The number oflegs of a mite is same as that of a _
A. wasp
B, preying mantis
C. ant
D. tick
The diagram below shows a part of a flower
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If a stem borer attacked the part shown, the following would happen. Which one?
A. seeds would not form
B. pollen tube would not form
C. there will be no pollination.
D. nectar will not be formed
6.
The main reason for sweating is
A. reducing excess water
B. reducing excess heat
C. removal olfaction acid
D. balancing of body fluids
7.
8. Loss of water in a cactus plant is prevented by roots

B. the stem     C its thorny leaves
D. its shape
9. In making of bulbs and fluorescent tubes, the percentage
of atmospheric air used is
A. 78%
  B  97%
C. 21%
D. 0.03%
10. Std 5 pupils made the following apparatus for measuring
temperature.
What happens when warm hands are removed away from the bottle?
A. coloured drop- descends
B. the drop moves up
C. capillary tube contracts
D. the coloured drop cools
11. Which of the following will gain shape at a reduction of temperature?
A. water in glass
B. chalk dust
C. metal rod
D. a piece of rock
12. Water outlet in a dam is placed at the base of the wall mainly


A. to ensure fast flow of water
B. to gain force for turbine movement
C. to prevent flooding
1
D. to make the wall withstand water pressure
13. The following can be used to overcome friction in bicycle except
A. grease
B. stream lining
G. ball bearings
D. oiling

15. The following are characteristics of soil.
(i) has large particles
(ii) poor capillarity
(iii) floods easily
(jv) suitable for growing crops
Which characteristic refer to soil that cracks when dry?
A. i
B. iv
C. iii
D. ii
16. Which materials cannot be separated by a magnet?
A. steel, copper, aluminium
B. copper, aluminium, zinc
C. cobalt, silver, copper
D. iron, aluminium, copper
17. During inhalation, the
.
A. ribs move down and inwards
B. chest cavity reduces
C. diaphragm flattens '
D. lungs contract
18. Which of the following will cause corrosion of iron sheet roofs?
A. Aerial spraying of crops
B. Too much use of spray cans G. Dust from quarries
D. Smoke and fumes from factories
19. The pair of levers that share same position of load, fulcrum and effort as forearm is…. .
A. pliers and shears
B. scissors and spade
C. fishing rod and pliers
D. spade and tongs
20. The stage of HTV infection at which body immunity is at it’s weakest point is…….
A incubation
B. window stage
C. full blown
D. symptomatic
21. Which of the following is an oil crop?
A. oats
B. jute plant
C. sisal
D coconut
22. The group or materials that are suitable for making a hot pot would be
A. clay, plastic, wood
B. aluminium, plastic, clay
C. plastic, steel, ceramic
D. silver, aluminium, plastic
23. The second largest planet also…..
A. has second longest orbit
B. hasaring
C. has a red spot
D. is known as the evening star
A. Immersion heater B. Radio speaker C. Electric shaver
D. Electric motor
25. Aflowerthatisinsectpollinatedhasthefollowmg characteristics except
A. scented
B. dull coloured petals
C. has nectar
D. sticky stigma
26. A std 6 pupils assembled the following materials: a candle, three card boards with holes at their centres, a ruler. What did the pupil intend to investigate?
A. sources of light
B. translucent and opaque materials
C. how light travels
D. reflection of light
27. The home of a living organism can be described as its A. environment
B. surrounding
C. habitat
D. catchment—
28. A mixture of rice and sand can be separated by
A. sieving, floatation, picking
B. picking, filtration, sifting
C. filtration, floatation, sifting
D. sifting, picking and sieving
29. In which of the processes below is 0.03% of air NOT used?
A. respiration
B. fire extinguishing
C. photosynthesis
D. food preservation
30. Which one of the following consist of health effects of drug abuse?
A. increase of heart beat
B. truancy
C. divorce
D. crime
30. Which method of grazing exposes animals to more diseases?
A. Herding            B. tethering
       C. padlocking
D. strip

31. Water conservation method that has more benefit to
environment is


.
A. recycling
B mulching
C. re-using
D. water harvesting
3 3. The food preservation method that involves moisture
reduction is
.
A canning
B. freezing
C. salting "
D.'drying
34. Adding garden soil to compost heap helps in _

A. addition of nutrients
B. increase rate of decomposition
C. introduction ofbacteria
D. add moisture to the compost
35. Water in diet helps the following except?
A. formation ofbody fluids
B. easy digestion
C. absorption of nutrients
D. constipation
36. Which method prevents the infection ofwaterbome diseases?
A. applying oil to stagnant water
B. drinking boiled water
C. clearing bushes around homes
D. wearing gloves and gumboats
3 7. Which source of electricity, depends on weather in order to function?
A. batteries
B. solar panel
C. bicycle dynamos
D. generators
3 8. The diagram below shows skull of a herbivore
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The part shown by letter X helps in
.
A. turning food during chewing
B. grasping and holding grass
C. grinding the grass
D. easy swallowing of chewed grass
39. Which ofthe following pairs of insects undergo complete metamorphosis?
A. locust and cockroach
B. wasp and bee
C. moth and ant
D. bee and moth
40. The part of the wind vane that ensures proper functioning is 
.
A. length of cardinal points
B. size :.i of the pointer
C. size- ] '
D. direw «. • t the pointer
41. Which sta emeni below is true about force?
A. is measu red using beam balance
B. its different from .friction
C. is measured using spring balance
D. has
same units of measurement as energy
42. We cannot see images on a rough surface because of
A. lack of enough light
B. translucent surface
C. lowreflection
D. irregular reflection
43. The absorption of heat in a solar drier is because of
A. the slant position ofthe drier
B. transparent glass cover
C. black paint inside
D. exposure to the sun
;
!
44. The following are reasons for lighting ahouse. Which one is not?
I A electricity provision ’•
B. visibility
C. pest control
D. safety
45. We mairsta”' «i~irle tools by


__?
A. usinc
lys
B. usin^i
oroperwork
C. keepir
v * *7ay from children
D. issuing them to the people
46. Which one has the same effects as tobacco when abused A. Mandrax
B. Alcohol
C. Miraa
D, Heroin
47. Ib prevent water on the ground from splashing into the funnel, it should be raised up by
__?
A. 3cm
B,30cm
C. 30mm
D. 3 m
48. Mother’smiEc is better ilaaao&erniilkfar'lhebsbytc'cause
A. it is always found in enough quantity
B. contains higher amount of calcium
C. it has no risks of contamination
D. has more proteins
49. Smaneranimdsinliiesc>illielpinforniation.oftliefbri-owri: aspect.
A. soil profile
B. soil capillarity
C. soil texture
D. soil drainage
50. The greatest component of environment is
. A. soil B. air
C. plants
D, water
Which statement is true ofthe set up shown below





saves effort by half


the load moves half distance of effort


effort is equal to the load


requires more friction





24. An appliance that has energy changes as the set up shown would be
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